HEXADECIMAL AND DECIMAL CONVERSION

HEXADECIMAL COLUMNS
6 5 4 3 2 1
HEX| DEc  |HEx] pec |HEx] pec |Hex| DEC |HEX] DEC |HEX] DEC
0 of 0 o 0 ol o 0o ofo o
1 1,048576| 1 65536/ 1 4,096 1 256 1 16| 1 1
2 2097,152| 2 131,072/ 2 8192 2 512| 2 32| 2 2
3 3,145728| 3 196,608/ 3 12,288 3 768 | 3 48| 3 3
4 4194304| 4 262,144| 4 16,384 4 1024| 4 64| 4 4
5 5242,880| 5 327,680/ 5 20,480 5 1280| 5 8 |5 5
6 6,291,456| 6 393,216/ 6 24576| 6 1536| 6 96| 6 6
7 7,340,032 7 458,752| 7 28672| 7 1,792| 7 112 |7 7
8 8,388,608| 8 524,288/ 8 32,768| 8 2048| 8 128 | 8 8
9 9437,184| 9 589,824/ 9 36864| 9 2304| 9 144 |9 9
A 10,485760| A 655360/ A 40,960 A 2560 | A 160 | A 10
B 11,534,336| B 720,896/ B 45056| B 2816 | B 176 | B 11
C 12,582,912 C 786,432| C 49,152| C 3072| C 192 | C 12
D 13,631,488 D 851,968| D 53,248/ D 3328| D 208 | D 13
E 14,680,064 E 917,504| E 57,344| E 3584 | E 224 | E 14
F 15,728,640| F 983,040/ F 61,440| F 3840 | F 240 | F 15
7654 3210 7654 3210 7654 3210
Byte Byte Byte

POWERS OF 2 POWERS OF 16

2" n 20 = 16° 16" n
2* =16’
=R i)
1024 10 22 = 16° 256 2
2048 11 218 = 14 4096 3
4096 12 220 _ 165 65536 4
8192 13 22 _ 18 1048576 5
16384 14 28 g7 16777216 6
32768 15 2 =16 268 435 456 7
65536 16 2= 16 4294 967 296 8
131072 17 2% = 16 68719476 736 9
262 144 18 Y = 1™ 1099511627 776 10
524288 19 24 _ 16" 17592 186 044 416 11
1048576 20 24 _ 1™ 281474 976 710 656 12
2097152 21 55 _ 1p 4503 599 627 370 496 13
4194304 22 o - 10 72057 594 037 927 936 14
8388608 23 5” = 12‘5 1152921 504 606 846 976 15
16777216 24 =

s

BACKWARD RELATIVE BRANCH TABLE

190 9 v 2 3 4 5 6§ 7 8 9 A B C D E F

128 127 126 125 124 123 122 121 120 119 118 117 116 115 114 113
112 111 110 109 108 107 106 105 104 103 102 101 100 99 98 97
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LSD
Msd 0

96 97 98 99 100 101 102 103 104 105 106 107 108 109 110 111
112 113 114 115 116 117 118 119 120 121 122 123 124 125 126 127
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ASCII CHARACTER SET (7-BIT CODE)

MSD 0 1 2 3 4 5 6 7
LSD 000 001 010 011 100 101 110 111

0 0000 NUL DLE SP 0 @ P p
1 0001 SOH DC1 ! 1 A Q a q
2 0010 STX DC2 ” 2 B R b r
3 0011 ETX DC3 # 3 [¢] S c s
4 0100 EOT DC4 $ 4 D T d t
5 0101 ENQ NAK % 5 E u e u
6 0110 ACK SYN & 6 F \Y f v
7 0111 BEL ETB ! 7 G w g w
8 1000 BS CAN ( 8 H X h X
9 1001 HT EM ) 9 | Y i y
A 1010 LF SuUB * : J & j z
B 1011 vT ESC + H K [ k {
C 1100 FF FS s < L \ | |
D 1101 | CR GS - = M ] m }
E 1110 SO RS . > N t n ~
F 1111 Sl VS / ? o) - (] DEL

NUL — Null DLE — DataLink Escape

SOH — Start of Heading DC — Device Control

STX — Start of Text NAK — Negative Acknowledge

ETX — Endof Text SYN — Synchronous ldle

EOT — End of Transmission ETB — End of Transmission Block

ENQ — Enquiry CAN — Cancel

ACK — Acknowledge EM — Endof Medium

BEL — Bell SUB — Substitute

BS — Backspace ESC — Escape

HT  — Horizontal Tabulation FS  — File Separator

LF  —LineFeed GS  — Group Separator

VT  — Vertical Tabulation RS — Record Separator

FF — FormFeed US  — Unit Separator

CR — Carriage Return SP  — Space (Blank)

SO — ShiftOut DEL — Delete

S| — ShiftIn

PUNCHED TAPE FORMAT (ASCH)

PP LSD
esec 0000000000 L
s

cooe ee o 4 pMSD
in [ ] P

~ JtL0A=LF

0D = CR

Data P = Even Parity

OBJECT CODE RECORD FORMAT (ASCH)
1 2 n

e, e,
Data Record: ;N'NnAaAzA'AoD'DoDlDo ... D1DeXsX2X1XeCR LF
Last Record: ;00C3C2C1CoXsX2X1Xo
where:
Two hex digits (MSD & LSD) = 1 ASCll character
; = Start of record (ASCII ‘3B’)

NiNo = No. of data bytes in record (hex.) 181« max.
= 00 for last record

AsA:A:Ao0 = Starting address (hex)

D:iDo = Two hexadecimal digits = One 8-bit data byte

XsX2X1Xo = Record checksum (hex.) Hex sum of all characters in the
record except ; and checksum, truncated to 16 bits (four
hex digits)

CsC2C1Co = Total number of records (hex)

CR = Carriage Return (ASCII ‘0D’)

LF = Line Feed (ASCII ‘0A"



